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500,00024 13| % 12I4 2 6,000
0 HE0I24! QIEY! A2 Z(ADSL)
40,0002 %203 1% 1204 2 9,600
o MEAMS SIHALRE(T/D)
22,00021%903] &+ 12002 23,760
o 2IHUNSt H% 3ldE  350,0002*135]H* 12012 4,200
o 2IEUNS AIES 9,000,000 % 12IH & 108,000
ol0lsds Stz 100, 0002 +5CH* 1204 6,000
o AOIERIIA AHEE 30,0004 +60CH 120 & 21,600
oZIHO0IZ RIHY B 0IB2  45,0002+1200E 552
oM 0IER= 3324%40,00024* 12042 15,840
o CIHYENC! 01223 45,0002 %107H* 1 450
o &t KY TVdlZE 15,0004 45CH+ 1204 2 8,100
0 E3HAS MHIA 0|22
3,00021%400* 1204 14,400
OAIEZHIKXIHI 134,432
ONESAIZOAAH L HHHIEAY QX2
= 776,000,00021%0.07+1. 1 59,752
oMBISAIFH Y M RXLS
432,000,0002%0.05%1.0 21,600
0 QIHUNESINED| SXE4
200,000,0002%0.08+1.0 16,000
o= DIV FXZ= 200,000,00094%0.08%1.0 16,000
o BILSAILE RAIE= 76,000,00094%0.08%1.0 6,080
o7l SHEZE 22 3,000,000 %53 15,000
401 Al&ZHIL S| 710,000 0 710,000
01 Al=tl 704,888 0 704,888
OLSHE HELSAIAL 2F 248,200,000 248,200
OLIXIE 2a|YSAIAE P25 456,688,000 14! 456,688
03 Al&=S0HYI 5,112 0 5,112




Q3] ERAS
2 AN
N M X5 (el &)
ARS| - 2A - HH - SRI(BH) - HRA - BES o st e bl DS
Ot HHBVSALE 5 250,000,00024%0.72% 1,800
OLIXIE SIelZSAAE 15 460,000,00094%0.72% 3,312
405 KHAHE S| 130,000 15,000 115,000
01 ML =SHSH 130,000 15,000 115,000
OSstHZs & =5 78 60,000,000 % 14! 60,000
O3lolal(th3loal, F3l0/4)S8 =Y WAl
40,000,00024*14! 40,000
O] 71 10,000,000 10,000
OdH A3t QIAIDB HAH A WA 20,000,000+ 14! 20,000
2L SAY FHAR 106,428 106,428 0
[ 53,214
z 53,214
201 L2 H| 106,428 106,428 0
[ 53,214
2 53,214
02 2294 106,428 106,428 0
O=Ita32see sids 106,428,000 106,428
= 53,214
2 53,214
SHASAAH|(BHE D) 56,390,206 53,392,937 2,997,269
= 144,660
[ 523,636
2 55,721,910
T 56,095,947 53,100,643 2,995,304
= 144,660
[ 523,636
2 55,427,651
oI24H| 55,257,084 52,285,452 2,971,632
101 QI244| 42,517,265 40,498,723 2,018,542
01 B 39, 118,569 37,691,574 1,426,995
Oss 25,379,769
0 ZFRH(DIFSH AZH) 7 315,5002i 12122 87.786
042 (82X HEH) 6,821,580 2*3%* 122 245,577
052 (812X HEH) 6,042,000 x5 * 122 1,812,600
052 (22Hl) 4,382, 20094% 10 * 122 525,864
063 3,793, 10024% 174+ 122 7,919,993




2,329,595

Q23]

ot

SHAHI(HF )

R ZH . GRI(E) - NRAR - BES sl e
o7= 3,095,900 * 1852+ 122 6,872,898
082 2,521, 7002 %1472 +122 4,448,279
092 1,916,70024%94%x 122 2,162,038
o ATA 2,994, 6002 x4 %+ 12 143,741
oXl&=2 5,102,200 22122 122,453
o KISAt 3,461,8002 *25%* 122 1,088,540

O8¥==4 23,233,806,00024*1/12 1,936,151

O824 Itz 558,960
o20E0l 100,000 %324 % * 122 388,800
015E 0l 2080/2t 80,0002 x26 %122 24,960
010E0let 15E0(2t 60,00021%130Z* 122 93,600
05E0let 10012 50,00021*862 122 51,600

O&2=Y FIt Itz 84,960
0250 At 30,0002 %192 x 122 69,120
0200l 25E0(2t 10,0002 % 1322122 15,840

OAlIZtel2 R4t 3,663,071
052 12,52521x2H*50A[ 24+ 128 15,030
06s 10,682 2% 17425041 2+ 122 1,115,201
o7s 9,649 % 185 50| 2Hx 122 1,071,039
082 8,663 x 14750 2+ 122 764,077
092 7,8302%04H*50A| 2+ 122 441,612
o KIS At 146,912

—212301d 10,0732% 14Z+50A[ 2+ 122 84,614
—20=20lot 9,4302% 11ZH*50A[ 2+« 128 62,298
0 AAL 10,2062 %4 25041 2Hx 12 24,711
o= 2P 9,6492x50% 17 Al 2tx4 & 32,807
o THSHTHLITHEI AtEHA 22X}
9,649 x50 * 17 A1 2H+4 2 32,807
0ZZE HIJZPR 9,64991 %26 *4A| 2Hx9L 9,032
oMY &8 22X 9,6492x3H* 17 A2t 128 5,906
ORI, AlLAHHASA 227}
9,6492x3L* 17 A| 218 3,937

Ose2f=4 23,293

oxsUZeIEY 23,293
—6= 85,867 2% 1260 5,153
—7= 77,56324x3E*60L 13,962
—8= 69,6332 %1260 4,178




K- EB - G9i(3) - HRAIL - By ol o e
o JIEAL 456,000
— B X 40,00024x420H * 122 201,600
—JIEt 20,0002%780% 128 187,200
-t 80,00024%70% 128 67,200
o RHBHH| B R 4L 186,132
= 465,330+ 100 *43] 186,132
0B 600,000 *40%* 122 288,000
0RYHBRH 50,0002 *6% 122 3,600
o222 4¢ 401,995
—430=2 4,382,2002%7 Y4, 1%+ 128) 15,093
—52U 3,793, 10024+ 1184, 1%+ 12 220,213
—63U<L 3,005,900 *76 %4, 1%+ 12 115,762
7302 2,521,700 * 1024, 1%+ 128 12,407
—83U< 1,916,70021* 102 *4. 1%+ 12 9,431
— QIR 3,59, 7002 *2% 4. 1%+ 128 3,540
KSR 3,461,800 * 154, 1%+ 12 25,549
oA 4,382, 2002 % 15 %%+ 122 70,992
0S4y 522,876
-S4 37,800
= 50,0002 15 128 9,000
HE 40,0002 +60H * 128 28,800
—JleyELrY 83.640
= 50,00024*10%* 128 6,000
673 30,00024%130Z* 12 46,800
. 830I5t 20,00024+60% 128 14,400
SN 60,0002 %22 122 1,440
. XZAH 50,00024%25% 128 15,000
—JlEgeag Jpu2 52,800
C JISE,JIA 30,0002%100 122 36,000
AFAT| AL 20,0002 %60 122 14,400
28z 20,00024*10% 128 2,400
—o|RYPA 50,00024%302 128 18,000

—2AISEY o|2A24Y

250,0002 % 182+ 122 54,000
— AP L 80,0002 *5% 122 4,800
—Rtp{agy 4,896
. MYDIX2IE 150,000 4«2 128 3,600




SR E2923
£ N B
Y M HNSHAH|(HFHD) (e Ee
ARE - A - ZH - SI(SH) - HRAIY - BES 0 &t e HIDEZ
SAAE 36,0002 *3%*122 1,29
—HYEES S EX L WP 4g
550,000+ * 122 13,200
—QIR g 30,00021+60Z* 128 21,600
— AbAT =g 20,00021+5%* 122 1,200
—SHae+y 70,0002 190 * 122 159,600
— OIS ARG 9,840
. 52 80,0002 +3% 122 2,880
6= 60,0002 *3&* 128 2,160
. 72015t 50,0002 *8% * 122 4,800
—AE= X eag 70,0002 %50+ 122 42,000
— Al =XE R Jt3 30,0002 %502 * 122 18,000
— A4 50,0002 *1024*32 1,500
0 EIBRA (O, ZI) =AY
40,000,000 10 400,000
OX & 25,379,769,0002*3.5% 888,292
OFAUZ A 130,00021 %6502 * 122 1,014,000
OBESIHI 23,233,806, 00081 *1/12%120% 2,323,381
ORILZAHl 25,291,983,0008*1/12+86%+ 1/30% 152 908,297
OZHLFEAl HAZRXF =& 1,800,000 6 10,800
02 JIEHZ4 1,322,348 1,004,642 317,706
OXAZH 587,078
= 384,318
—231404F 301 0/ 3,454, 60024+72* 122 290, 187
—155014 23 02t 3,053,400 x1Zx 128 36,641
—15440]2 2,395,400 2% * 128 57,490
oFI2agY 384,318,002+ 1/ 128 32,027
0 HILEIIAZ 10,440
—20140] 4} 1000002 *7% 128 8,400
—10=014} 1502 60,0002 *2%* 122 1,440
—5E014 10E0]2F 50,0002+ 124% 122 600
oF24Y I} JHar2 2,520
—254404 30,00024+7 2+ 122 2,520
F=RIE=, 89,969
—JIESY 16,320
. iR 40,0002+ 10+ 128 4,800
. JIEt 20,00024+40%* 128 9,600
ohara 80,0002+ * 122 1,920




(A3
X
SHE2AHH|(E )
8l - 2A - BB - S9(31H) - NIRA - BaS ol ko e
S NEETEEES= 5,584
nss 465,330 24+3H 43| 5,584
— X224 68,065
AlZtel2R4g 9,773 * 10 *50A| 2H+ 12 58,638
. SYIRY 78,556 x2H+60 9,427
o HAUZA 130,000 x10H* 122 15,600
0 HHESIH| 384,318,0002%1/12%120% 38,432
o SIIE 4 384,318,000%1/12+86%+1/30% 15 13,772
O IHB22 678,941
oHEHMU(6=4Y) 4,300,000&* 1+ 12& 51,600
0 HEHU(7TSHY) 4,000,000 +8Z*12¢ 384,000
0 HEHU(BSAY) 3,000,000 %3 * 122 108,000
oAlIL22R4Y 60,967
— IIM(624) 9,689+ 1 #50A( 2t 128 5,814
— IM(724Y) 8, 84621 x8 T *50A| 2 128 42,461
— IIM(824) 7,051 2135041 21128 12,692
0IELY 13,680
—HXt 40,0002+ 12+ 128 5,760
—JIEt 20,00094%25% 128 6,000
A= 80,000 x2%* 122 1,920
PN EETEl b= 465,330 x5 43| 9,307
09 EURLEH(BAHRZR) 250,000 *3%*12¢ 9,000
0 HAUZAH 130,000 12128 18,720
0 At A 660,454,0002*1/12%86%x*1/30x 152 23,667
OX M &I 927,928,00024%3. 5% 32,478
OLNESSHZ(EFA HUX HAHE)
1,590,021,00024%1.5% 23,851
03 PIAHAZ2X 24 1,865,039 1,616,555
oJlea 950,590
0 HEZ 1,549, 3002 *45% * 1224 836,622
oLt=Z 1,979,300 2% * 128 47,506
oCH&Z 1,846, 1502%3%* 122 66,462
ORI 100,000 x50 * 122 60,000
O=Ig=g 500,000 x5 * 122 30,000
OXtHBHI 2 XSS DE5HD) 270,0002 % 1024 *43] 10,800
OYESIHI 79,217
0 t=Z 1,549,300 #45% 69,719




3 ERAVS
2 A @I
N . SHNSAFHI(HF) (St &
ARE - A - ZH - SI(SH) - HRAIY - BES 0 &t e HIDEZ
oLtEZ 1,979,300 2%2% 3,959
olt=Z 1,846, 15024%3% 5,539
Ox0i2 364,424
oJtEIZ 1,649,300 2 #4345 296,874
oLtZIZ 2,124,300 %4 3|%2% 16,99
olCtxIZ 1,99, 15021 %43|+3% 23,954
o=CHIAIER 950,000 *43|+7Y 26,600
OAlIZt2I224+Y 62,562
oJHHE 10, 1812%45%x10AI 2t+ 122 54,978
olLt=z 13, 114242+ 10A12H 128 3,148
o&=Z 12,32224%3*10AI2H+ 128 4,436
OLIDtZAM| 41,710
0 Jt= 2 54,3002 * 152 *45% 36,653
oLt=Z 69,9409+ 152 x2H 2,099
oCH& 2 65,7202 % 152 x3 2,958
OX=IHEtl 1,588,503,0002%3. 0% 47,656
OZLE2Z R HHSAHI(ATHEE XtHL)
1,000,000 %52 5,000
Os=4 S8= 15,000, 000243 45,000
O=tgz FE= 1,588,503, 0002 *9%+*50% 71,483
OHZEE 782 1,588,503, 00024%6 . 12%+50% 48,609
OIS FES  52,357,27024%13. 1%+50% 3,430
ONEERE FE3 1,588,503,00024*1.5% 23,828
OtEE FE2 1,588,503,0002*1.305% 20,730
04 DRSS E S 211,309 185,952 25,357
O=tg= f82 2,000,000, 0002 *9%+*50% 90,000
OHZEE FE2 2,000,000, 00024+6 . 12%+50% 61,200
OelFVIRSEE FES  61,200,00094%13. 1%+50% 4,009
OLEEE F&2 2,000,000,00094*1.5% 30,000
OtEE fE23 2,000,000,0002!%1.305% 26,100
204 Z R4S A Y| 1,298,700 1,157,940 140,760
02 Rz2=| 1,298,700 1,157,940 140,760
Oz= 500,000 12 6,000
ORZ4 450,00024+ 122 5,400
OJ |2 ZAAE, DIRSAAE 400,000 x23+ 122 9,600
055 250,0002%35% %128 105,000
O6= 155,0002x230%* 122 427,800




A3 E2AVE
£ M I
Y M ANSHAH(HF) (EER-E
ARE - A - ZH - SI(SH) - HRAIY - BES 0 &t e HIDEZ
ors 140,000 %210 * 122 352,800
C8-93 105,0002%230% * 122 289,800
OXISAE & A2AL 155,000 332+ 128 61,380
OFZE & INs2 155,000 x22% 128 40,920
303 A2 2,300,000 2,300,000 0
02 A0S 2,300,000 2,300,000 0
OS A2 2,300,000,000& 2,300,000
304 HIBRY3E 9,140,119 8,327,789 812,330
01 I3RS 7,582,208 6,838,568 743,640
O2d8=z 45,482,225,00024%4 . 167% 1,895,245
Ofx+d FE= 45,482 ,225,00024%4. 1147% 1,871,458
OMali=2s fe3 45,482,225,00021%0. 13%% 63,221
Os7HAz F&=2 45,482,225,00094%8.25% 3,752,284
02 20AHYLEHZ 1,557,911 1,489,221 68,690
OHZEE FE= 45,015, 123,00024+6 . 12%+50% 1,377,463
O A QULE 22
2,754,926,00021%13. 1%+50% 180,448
309 M&E2 1,000 1,000 0
02 SRAASASHINMNEEZ 1,000 1,000 0
O32& UHHski=s 23 1,000,000 1,000
HAE AT 29 92,240 90,200 2,040
101 Q14| 92,240 90,200 2,040
02 JIEt=I B4 92,240 90,200 2,040
OFAE AL 29 92,240
07123 2,190,000 2%« 12 52,560
07| Ug 2,190, 0002 x2Z x50%+43] 8,760
o JHAHIXI&H| 2,190, 000 2 +50%*53] 10,950
o HESIHI 2,130,000 *2% #50%+23] 4,260
o d=2+gIHig 140,000 %2« 12 3,360
o WEH| 100,000 x2% 122 2,400
ozl 130,000 x2% 122 3,120
0 ItESY 20,0002 %2122 480
oxd2PLE 17,330 2% 2%+ 10AI 2 12 4,160
0 AIHE A 2,190,000 %2 %1/30% 152 2,190
T2 2RIY QA 556,963 523,637 33,3%
[ 523,636
= 33,327




E2223
S
SHESHAH|(HE W) (CHol ®e)
5l - 2A - BB - O9I(31H) - KIRAR - BAS Ol ko e HlmE2
101 QI2AH| 556,963 523,637 33,326
[ 523,636
= 33,327
03 PIHA22 RIS 556,963 523,637 33,3%
OJ1=3(U =) 1,860,71091%13%* 122 290,271
[ 290,271
OAIZtAZ224 (Lt =2)
13,1502 % 13 *20 A 2+ 122 41,028
[ 41,028
OXz&d=¢ 100,0002% 13128 15,600
[ 15,600
OYESIH|(LH =2) 1,860,710 %13 24,190
[ 24,190
O&0I3(Lt =) 2,130,7102% 132 %43 110,797
[ 110,797
O AHI(LE =2)
(2,130,7102/30L! ) » 13 * 15 13,850
[ 13,850
OsIg+¢ 150,0002 * 132122 23,400
[ 23,400
O 4G 5,400
0Bt 300,000 %12+ 122 3,600
[ 3,600
s 150,0002% 1+ 122 1,800
[ 900
= 900
OHIAZ2R Xt A 7,000 % 132 +60A! 5,460
OILI=H| 550,00024 132 7,150
OAlR&EEH 200,000 %123 2,400
OXH 4] 1,860, 7102 %6%+ 1271 2 » 13 17,417
IIEZHSEAIRH2 ZHIXIR(l4]) 39,660 38,854 806
= 39,660
101 QI24H| 39,660 38,854 806
= 39,660
01 B4 39,660 38,854 806
OIIEZHSEAIR XA 2124H| 39,660,000 39,660
= 39,660




3 B2
JSER-E<n)
. HAHSHAH|(MAE) (CHol ®e)
ARE - A - ZH - SI(SH) - HRAIY - BES 0 &t e HIDEZ
ArBI=XI0134 01| X 150,000 162,500 A12,500
= 105,000
= 45,000
101 Q1244 150,000 162,500 A12,500
= 105,000
= 45,000
01 2= 150,000 162,500 A12,500
OAt2lgXIo1E el K& 150,000
O NLSOIAE 2 144 THE =SXI= Q14|
2,500,000 3 *6IH 2 45,000
= 31,500
= 13,500
0158 AIRTHE SXIZ QA
2,500,000 % 1Z* 1242 30,000
= 21,000
= 9,000
0168 AIFIHE SAIF QIAH
2,500,000 x2%* 12J4 2 60,000
= 42,000
= 18,000
0178 AIFRHE SAIF QA
2,500,000 %12 +6IH 2 15,000
= 10,500
= 4,500
J123 294,259 292,294 1,965
o122l 294,259 292,294 1,965
201 L2 74,779 72,814 1,965
01 Attt 35,384 39,384 A4,000
OYBt=2Y 27.,384,0002! 27,384
O=t| 8,000
0 SCIHRFE(ZS) A 8,000,000 8,000
02 S==2Hl 39,395 33,430 5,965
02222 ¢ HMAl 4,395
oUIXE AMEE 812 13,7202 *12& 165
0 22X NSl 1,230
—52(2%, 22%) 550,0002*2CH 1,100
—SEX 65,0002 *2CH 130
022N HE2 3,000




Q3] ERAS
= A
5 SHA S AH|(SHA D)
3l - 2A - HH - O9l(3IH) - HEAIY - BES ol avon e
—SE(2%, 222) 600, 0002 *2CH 1,200
—8t %t 900, 0002 *2CH 1,800
ORI 35,000
0LE(2, B22%) 12,500, 0002 *2CH 25,000
=t 5,000, 00024 *2CH 10,000
202 04t 27,000 27,000
01 =0 27,000 27,000
OB IADZAIH|(BE) 27,000,000&! 27,000
203 HREAH 110,880 110,880
01 J|2ASIAREEIH| 89,100 89,100
Oz 4,400,0002 122 52,800
oRz4 3,025,0002 122 36,300
02 HRAIMAREEIY| 17,580 17,580
OZRE AP 60,00021+293H 17,580
04 HASYALFTY) 4,200 4,200
ORN2Z SRF2H| 350,000 %122 4,200
204 R R4E 2| 81,600 81,600
NIEEEEEESET] 81,600 81,600
Oz = 650,000 x 12 7,800
oRz4 400,000 * 122 4,800
OJ |2 ZAAE, QIR SAAE 350,000 x2 X x 122 8,400
OnE & AIAR 100,000 %202+ 122 24,000
og, =% 150,00021* 122122 21,600
ORHAE 2 M292(62) 50,0002+ 14 * 122 8,400
OsgIIsde AR 400,000 %13« 122 4,800
OBHAZ 150,00024* 1% 122 1,800




N = O

& A

Al A

201735 204 LEHSIH, JIEFSESIAH
PR ERIAE
2O JIGXEL
M MY XX (S 53)
LIRS - SN - FH - S2A(SH) - MIRAI - HES Ofl Akl %Eg HwsS2Z
IS KI2 2t 4,584,743 6,197,582 21,612,839
Xl 337,500
=3 674,611
i 3,572,632
SEAIE =& 25,520 44,080 218,560
DYEE TAl =4 25,520 44,080 218,560
oYY HE =4 25,520 44,080 A 18,560
201 LEH2 | 11,440 22,080 A 10,640
01 At2teltl 11,440 22,080 A10,640
Ogt=ZH] 5,000
o MEEAI AIAIY 2 5,000,000 5,000
Otz 1,400
o HAXAS X&HUXZ 700,000 %23] 1,400
O=&tl 5,040
o MEAIY HRFE E2X AL 5,040,000 5,040
202 o4t 10,080 12,000 21,920
01 =UHOHHI 10,080 12,000 1,920
OFSAY HRFA 0l 10,080,0002! 10,080
203 R =&IH| 4,000 4,000 0
03 AIZFAHRZAIH| 4,000 4,000 0
OJISXIA AIHEZ 4,000,000 4,000
MAHK =8 Y 29 2,477,342 1,679,718 797,624
Xl 300,000
[ 60,000
o 2,117,342
AFAET] 24 2 2 (AMHSXTZHAIY SE3H) 2,477,342 1,679,718 797,624
Xl 300,000
& 60,000
o 2,117,342
A (=3) Xl 2l 88,400 88,400 0
101 @124t 10,800 10,800 0
04 D122 S E = 10,800 10,800 0
Ot (s3) Al 2el ey
100, 000 & 2B +3+6 I A-+33] 10,800
201 LEH2 | 77,600 77,600 0
02 SS=EHl 77,600 77,600 0
Ot (s3) Sl Al Al KXl 20,000




ESFFE
BIE=pAEE)
AAEHE] BN 2 2 (CHo: &)
/3| - A - B - S9I(SH) - MRAIS - BES ol &kt e B2t
o LHHE 5,000,0002% 174 A 5,000
o=SEA 3,000,000 %574 A 15,000
OXA(SB) Xl XIdk BIaXIHA L A5
3,000, 00094271 A#23 12,000
Od(s2)EHXl JIZS HIIRE  3,800,0002 122 45,600
A (S2)EHR| JIBFAIE FH 980,000 960,000 20,000
Xl 300,000
[ 60,000
2 620,000
401 AlEHI LSO 980,000 960,000 20,000
Xl 300,000
[ 60,000
2 620,000
01 Al=tl 973,880 953,088 20,792
LESTE ALSR HESAY
596,220,0002 14! 596,220
Xl 300,000
= 296,220
Oartl JIg&d HEAE 198,560,0002x 14! 198,560
[ 60,000
2 138,560
OsZE AlE2 SA22I(7IHL)
99,100,000 * 1Al 99,100
O/ FIIXH BN 29 20,000,000 20,000
Ol (=B)CHX| S &te MY 10,000, 00024 1A! 10,000
OU=R~+& dAeX 50,000,000 % 14! 50,000
03 Al&=2H| 6,120 6,912 ATR
OLS=2CHR| AIESRX| HESALY
600,000,0002%0.63% 3,780
Oartl JIg&d e 200,000,00024%0.72% 1,440
OsZEX AlE2 SARA2I(7HL)
100,000, 0002 0. % 900
ML 1,408,942 527,718 881,224
801 GilHIH] 1,408,942 527,718 881,224
01 Zerofbidl 1,408,942 527,718 881,224
Ouoilbbl 1,408,942,000 1,408,942
oE= AT 208,292 191,632 16,660

Xl 37,500




RAZ: S22
2 pll=baf=in}
g A ESA0Y [ &)
ARE| - 2A - FE - SRA(SIH) - KIRAY - B o e 2
[ 22,000
= 148,792
IS 208,292 191,632 16,660
| 37,500
[ 22,000
z 148,792
JIGR@ =& 124,292 117,632 6,660
201 LEr2 Y| 7,082 4,032 3,000
01 At &2l 7,082 4,082 3,000
Oglgt=2| 3,000
0 BEEE JI0IE X} &2t 3,000,000 3,000
O=t| 4,032
oJIZXE SR =& Al 4,032,000 4,032
202 04t 8,260 4,600 3,660
01 =LHoIb 8,260 4,600 3,660
OJIGRI& HRFE | 8,260,000 8,260
301 LEHE A2 15,000 15,000 0
02 Zs=Hsli= 15,000 15,000 0
O=2=2X ME &=3 15,000,000 15,000
307 LIZH0IA 34,000 34,000 0
02 QIZFBAAIRIE X 34,000 34,000 0
OOBHE-H4EE L FAHTAIE X
2,000,0002%107H2 |2 20,000
OtHA+Z X (SHY, el 5)
2,000,000 %4747 8,000
OH2X| ALY 2,000,0002%37471 6,000
403 KX SHHISXH20I A 60,000 60,000 0
02 SI|ZSHICHEIA=E CHE AL 60,000 60,000 0
OFZESHEHAZA 30,000,000 *2JH Al 60,000
=1k S=a ] 24,000 24,000 0
[ 12,000
= 12,000
307 IZHO|A 24,000 24,000 0
[ 12,000
= 12,000
02 2IFREMAMHE X 24,000 24,000 0




e E29as|
£ A JIgX&
& o A=A (cHo: ®e)
ARS| - 2A - HH - SRI(BH) - HRA - BES o st e bl DS
O JIY d780E B3 A
500,000&+*8Z+6H 24,000
< 12,000
o 12,000
NEENSE(ADIE 38 23 X&) 60,000 50,000 10,000
Xl 37,500
& 10,000
= 12,500
402 QI2ERHE01N 60,000 50,000 10,000
Xl 37,500
= 10,000
= 12,500
02 DIZEXHEAIH 2 (01X THE) 60,000 50,000 10,000
OADIEESE B X 60,000,0002 60,000
Xl 37,500
& 10,000
i 12,500
MRPES(OILX ) 440,000 960,000 520,000
LHEHHKIZE 440,000 960,000 520,000
M (=) JIBIAIE Jh| 440,000 960, 000 520,000
701 JIEtSIHSEHES 440,000 960,000 /520,000
01 JIEFSIHEES 440,000 960,000 A520,000
Os3HX 440,000
o =EF=3CH AMEERA HESASY
300,000,000& 300,000
042 JIgaEtd HEAS 140,000,0002 140,000
A EXH KX 1,390,255 3,274,818 A 1,884,563
& 592,611
= 797,644
SZI&Y de|xy 409,519 2,853,274 2,443,755
S| &t =& 409,519 703,274 A293,755
201 LB+2I| 32,024 42,274 A10,250
01 Attt 13,024 17,274 A4, 250
Oggt==ZH| 10,000
o&&J1eel PPT MIZH(50H=01) 10,000,000 10,000
Ozl 3,024




PR3 SRS
2 A JlgXE
& M MY EX KX (Sl &)
ARS| - 2A - B - GI(SH) - HRAL - BES o st e bl DS
o0SIAY AR =& Al 3,024,000 3,024
03 &A=t 19,000 25,000 26,000
ONESAI || E4st A5 7,000,000 7.000
Os2J| & &AL & 2tg3l 5,000,000 5,000
Odllel SZIIHAH(AAL) & 7,000,000& 7,000
202 04dl 8,260 8,000 260
01 =LHGib 8,260 8,000 260
Os2018e|xd HRFE HHIOIZERX 8)
8,260,000& 8,260
301 LetEAs 26,000 23,000 3,000
09 HAMHIEAS 3,000 3,000 0
OS50 S AL L 2teks] AR BEAZ
50,000 *30E*22] 3,000
11 JIEt243 23,000 20,000 3,000
OXNSAE-E Mg Bd= 20,000,000 20,000
OJIRAI ei2iel e 3,000,000 3,000
307 QIZHOIA 50,000 0 50,000
02 QIZHEAAIEE X 50,000 0 50,000
Odliel A3l EIH| X 50,000,0002 50,000
402 BIRHRHZ20IN 293,235 530,000 N236,765
01 ZR2AIEE(XMIH) 293,235 530,000 236,765
OSZIIM AlE . ZUIXZ2 8Kt OIXEA
90,335,000& 90,335
OsZI12d oSS XA 33,500,000 33,500
OS2I dXE=Z X
2,000m 121, 000& *70% 169,400
EXSX JlgrEd 980,736 421,544 559,192
& 592,611
= 388,125
EXSXI(XEAL) 239,972 121,544 118,428
201 LEH2HH| 18,712 65,680 A46,968
01 Attelt] 11,712 8,680 3,082
Oget=+=EH| 6,000
0 FXNRX BEES MZE 6,000,000 6,000
O2g+< 1,680
o FNSXIRARS HFHE 70,0002 62 x43] 1,680
O=&tl 4,032
o FEXRX HE =& OHAHI 4,032,000 4,032




A5 B2
2 M DX
& O MY EX KX (CHo: &)
ARE - A - ZH - SI(SH) - HRAIY - BES 0 &t e HIDEZ
03 ALY 7,000 57,000 50,000
O & EXRX| AL =X 7,000,000 7,000
202 01| 8,260 0 8,260
01 2LHOIHI 8,260 0 8,260
O=2U04H| 8,260
0 SRR LA ot 8,260,000 8,260
301 LeHBAS 11,000 13,000 A2,000
09 SAAHIBAIS 9,000 9,000 0
OJ IG5t 3/9(2tE3]) &4 24
50,00094+30H*63] 9,000
11 JIEr2 A2 2,000 4,000 2,000
OJIALX| 2120l B4 2,000,000 2,000
303 Lat= 2,000 2,000 0
01 ZA3 2,000 2,000 0
OJILRX RBX =4 2,000,000 2,000
401 AlEHI LSO 100,000 30,864 69,136
01 Al&ZH| 99,280 30,000 69,280
OAl&H] 99,280
0JIURX| JIBAIA HR|(FYUTE, M X
=hURS)) 99,280,000 99,280
03 Al&S0HY| 720 864 A144
OAE 2 720
0 JIZRX JIBAIE AX| 100,000, 0002%0.72% 720
402 QIZEXHR0|H 100,000 10,000 90,000
01 IZFXH2 A B (KIRITHE) 100,000 10,000 90,000
OXNLENERERZ XI& 100,000,000 * 1Al 100,000
EXNRX(BX) 740,764 300,000 440,764
[ 592,611
= 148,153
402 BIZFXHE0IH 740,764 300,000 440,764
[ 592,611
= 148,153
02 PIIRFEAIA B E(OIH L) 740,764 300,000 440,764
OFNH=HAF 22 K& 370,382,0002+2IH S A 740,764
[ 592,611
= 148,153
SAAH|(JIH XA D) 43,334 47,334 A4,000

| 2
0%




i3 293
£ IS X2 Dt
D m BE2eHOIPNR
RS - A - HH - O9(BIH) - MISAY - B2 il &b e
=34l 43,334 47,334
|=2&H| 43,334 47,334
201 Ler2gH| 25,334 29,334
01 At=2teld| 19,334 23,334
Ogit=2H| 13,334,000 13,334
Ozl 6,000
o BUHARF(SS) DHAI 6,000,000& 6,000
02 2323l 6,000 6,000
OxE7FHI 4,000,000 4,000
Oxtet=Xl2eld| 2,000,000 2,000
202 04dl 15,000 15,000
01 =LHO4H] 15,000 15,000
OSIARFZTHI(ZS) 15,000,000& 15,000
203 R=AIH| 3,000 3,000

=Ed| 3,000 3,000
OJIZXE L EA2H 250,000 %122 3,000




N = Ol & A

S0laH LBHSIH JIEHSE 2l A

Al A

(S ® )
AR - A - FH - S2I(S1H) - HRAI - BES ol &kt e B2t
3,511,700 4,309,433 AT797,733
3= WY 29 798,952 769,722 29,230
Pl 2t 167,878 148,302 19,576
2 212 59,099 59,099 0
201 LBty 42,239 42,239 0
01 AtR22/H 15,984 15,984 0
Ots24) 7,920
o FHIDRIA M 7,920
— 2NN (EEHE) 66,0002 x502 A 3,300
—HJ|I2DXN(=2ER) 66,0002 702 A 4,620
O=aH| 8,064
0 PUADEX OhAlY] 8,064,0002! 8,064
02 222 26,255 26,255 0
O3222 2 WAl 26,255
oW 26,255
—ereH 30024#65,00024 19,500
—SJ|2# 1,93094%3,50024 6,755
202 O4Hl 16,860 16,860 0
NETCEL 16,860 16,860 0
ORWYR =X0iY] 16,860,000 16,860
HE 2l 108,779 89,203 19,576
201 LBt Y| 48,690 38,170 10,520
01 AtR22/H 31,650 15,130 16,520
Oets24) 9,330
0 EATY 3,150
— XAl gad 50,0002%255 1,250
— XAl o d 95,0004 +2ZF+ 102 1,900
OXLHY S22 M=E 6,180
—E==a 55,0002 % 154 2*43] 3,300
— Q2 10,0002 %43 * 12J4 A 480
—oIME 2002 %43]%3,0000H 2,400
ODn=Tely Ax 2 KRB 19,520
oNBIBIE Y )| dX=z 14,520
0 NETEIE AGE 5,000,0002 5,000
o294+ 2,800
o NIZAl Aolglds &Y 70,0002« 102 *43) 2,800
02 222 17,040 23,040 26,000




B S22
S A R
H M YR BEY WEH 2H (EER-E
AR - A - FH - S2I(S1H) - HRAI - BES ol &kt e B2t
OAEEH] SXI] 17,040
0GBanking AIAE! S22 3250002 %122 3,900
0G-Banking AIAE! JHQINEASIHI} FII2E
3,300,0002 3,300
O KAl ARSZHEEIR AIAEI SX|24
520,000 %12 6,240
O KNI ARSZHELHE A|AE! JHOIN B HEHE I}
el 3,600,0002! 3,600
203 PRE=XH| 2,500 2,500 0
03 AIZHZRIADEXIY) 2,500 2,500 0
OMPEE Al =X 2,500,000 2,500
301 YBHBAS 10,000 10,000 0
1 JIEE NS 10,000 10,000 0
OSAGNI B& 2 FE Y 10,000, 00024 10,000
303 ZAZ 2,500 2,500 0
01 ZAS 2,500 2,500 0
OEFSoMaL= 2= 50,000,0002%5/100 2,500
306 =0i2 3,200 3,085 115
01 E013 3,200 3,085 115
OB=2XLAARY =12 3,200,000 3,200
308 RAHXISHHISOI® 40,289 32,948 7,341
10 I 2 SOICHEH B A X CHAAIS I 40,289 32,948 7,341
OXSMAEEAIAE SXI2elAIS 40,289,000 x 14! 40,289
403 XHXISHHISTH=201 & 1,600 0 1,600
02 ZIIZS0ICHEHRH2 = CHEALIH] 1,600 0 1,600
OXNYHMEEAIAE == 1,600,000 %1 A! 1,600
st 522 107,471 105,881 1,590
31 22 78,971 77,381 1,590
101 Q14| 17,755 16,693 1,062
04 JHMZR2IEE S 17,755 16,693 1,062
O3 HLREZ ol 17,755
0Jl=3 51,76021%1 B *2462 12,733
0R3EY 51,7602 1Y #522 2,692
Eb==ul 51,7602+ 1Z* 152 777
0 &&= 51,76021%1H*302U*3652 /365 1,553
201 LBy 46,296 47,688 A1,392
01 AtR22/H 27,096 26,088 1,008




[
K
Ok
uJ

N2,400
1,920
1,920

1,583

HEE
Ofl koK

21,600
13,000
13,000
28,500

16,500
16,500
12,000
12,000
164,825

17,800
900
2,400
900
1,200
1,200
7,000
4,200

2,240
2,240
7,056
7,056
19,200
19,200
7,200
12,000
14,920
14,920
14,920
28,500

16,500
16,500
8,500
3,200
800
3,000
1,500
8,000
8,000
12,000
12,000
12,000
163,242

*123

20,0003 3504
5,000+ 140F+6:=2 0t

=
=]
2

300,000&+3
300,000& x25+2

- peS
10,000&*10

25,0003 +35+122
100&+2,00001* 122

- S2(BIH) - MRAHS

-
o NSEIHEI| &

- 2A

g
3
3
00

A AE8(G28) Ol

ct
=

2]
'OL‘I

[und

2UxBHx4

14,920,000&

7,056,000
600,000& 122

70,000
1,000,000& » 122

It

| HI TH

03
OAIEEHI R XY

01 =LHAOLI

202 044l

-

<J
fal
i
=3
ol

20,0002 +80+25
800,000&

15,0002 *2005
10,0002 150

100, 0003 420
12,000, 000& 14!

89

X+
&

AN

=
=

=
= T

al

FAY

(il

A
A MEIXIEA 124

4
=
03

)
O MREDA SelaH A

01 AtR2teld]
01 g2

207 AIHEH|

)
ol

113,845 3,667

117,512




PR3 R3]
2 A ML
O TR EE) WE 2Y (Sl &)
S| - A - BH - 9I(S1H) - HRAIY - BES ol &kt e B2t
201 LBH2HH| 95,512 91,845 3,667
01 At22teld| 41,970 40,770 1,200
Ogt+=2H| 36,930
o KAl DA R === 802 *40,00024 3,200
oiYH& &SI EE+2 1,00021%80024 800
ONENER EE2E = 55,0002 15J}|*23] 1,650
oMl DXIA MR 66,00021+80E4 A 5,280
o= HAZCISAF SN ==& 2,500,000« 2,500
OKIZAl QIHY AZIIE HRE
200&*10,0004 2,000
A0 &F AAE 082 21,500,000 21,500
Ozl 5,040
oM HE F& OHAL| 5,040,000 5,040
02 2224l 53,542 51,075 2,467
03322 42 WAl 41,530
OXMEYEDXIN LEtW SE 3002/%18,00021%63] 32,400
osE M3 otz &5 300%10,00024%23] 6,000
oMz I SX 1,930&*1,0002H 1,930
OURLHER OHHE &S 300! *4,00024 1,200
OAEEEIR XY 9,012
OMEZUC|RBSIAAE RSB 400,0002 %122 4,800
OMIERIE HSEAIAAY SRS
351,000&*12& 4,212
O Xtgrdet] 3,000
oXMEEHEXE |22l 3,000,000 % 14! 3,000
202 04dl 11,000 11,000 0
01 =2LHOHI 11,000 11,000 0
OMEM &= L Mgzl 252 ol
11,000,000& 11,000
303 L&tz 11,000 11,000 0
01 Z&3 11,000 11,000 0
OMEM 2oz 6,000
038Xt H=pH 40,000,000 %5/100 2,000
028Xt H=pH 80,000,000 +3/100 2,400
o 18Xt &=pH 160,000,000&*1/100 1,600
OXIZM HaE 280 Al 5,000
0Zf 2,000,000&*101 S 2,000
oS 1,000,000&*204 =& 2,000




[0

fon

< =%
£ M TR
oM e S0 N 2y (Er9l: &4)
_ } d
A3 - BA - FH - S2A(3H) - HRAY - BES Oif &4 a}qﬁ Hwsz
o & 500,000&*20 SH 1,000
I ES PN 45,730 50,980 5,250
201 LeH2Ed| 24,230 24,230 0
01 AtR2teld 6,100 6,100 0
Oget==ZH] 5,400
oMIels=e DXIM HM=Z 66,0002 x502A 3,300
oA SIIFS =5 3.00024*5000H 1,500
oMI2I=Y JtatHIEt =42 50,0002 %122 600
O2g=4 700
0Z2LXNHIIRAANRAS] &BA &
70,0003 5 +23] 700
02 3524l 18,130 18,130 0
03223 ¢ HMAl 18,130
OMENXMN &Y it RERS
300&+9,00024*63] 16,200
oMEHME SX S| fERS 1,9302%1,0002H 1,930
308 KHXICHHISO|® 21,500 26,750 ~b,250
10 S ZSOCHEH S & X CHEAIS I 21,500 26,750 A5,250
ONMel=LEEAAE SXI2eltl 21,500,000& 14 21,500
SEAED} 360,361 350,714 9,647
B 100,952 103, 105 A2, 153
101 Q1244 39,132 36,470 2,662
04 JIZtNI2Z2 X SE 39,132 36,470 2,662
ONEZEH SHTAF LAIAISE Q12 39,132
oJlEg 51,7602+ 14H+44 31,885
oR=SnY 51,7603+ 14F+10=F 7,247
201 2| 61,820 66,635 A4,815
01 AtR2teld] 61,820 66,635 N4,815
O3] 61,820
oFEZAL EEE WA 2,110
—s=2 55,0003 177*23] 1,870
—J2hE 10,0002 * 120H*23] 240
oFEDIA AE 222 59,710
—FEDA 2B+ (MEHIHA)
6,098 *(18,0005*1/2) 54,882
—=AE BEFTE 7,6232%300% 2,287
—HU(YAME, 0120 H) AT =2
25,410&*100= 2,541




A3 E2AVE
S A R
A R HED WE 2F (S0 &)
S| - A - BH - 9I(S1H) - HRAIY - BES ol &kt e B2t
THAKL S22t 45,687 42,275 3,412
201 LB 33,167 31,675 1,492
01 Al22tel] 10,342 8,850 1,492
OYstA2H| 6,310
O THAAI EMIDXIA (28H) 70,0002 %602 A 4,200
oTHANI BEZ MIE 2,110
—&50 55,0009 17J4x23] 1,870
—g2re 10,0002 * 12JH*23] 240
O3 4,082
0 RPSAHEIL AREZA DAY 4,032,000 4,032
02 B22%Y| 22,825 22,825 0
02222 ¢ HMAl 22,825
o MHARKI DXIA 2as(et) 3002460, 0000H 18,000
o ANl DXIA 25(SI1) 1,93024%2,5000H 4,825
202 OdH| 12,520 10,600 1,920
01 240t 12,520 10,600 1,920
ORSAEI} A2FF 0] 12,520,0002! 12,520
IHEZAIKIDE ZE DA 213,722 205,334 8,388
101 Q14| 53,625 50,268 3,357
04 JRHH2ZEXEES 53,625 50,268 3,357
OEXSESZA & AL 35,509
0Jl2z 51,7602 %2 =246 25,466
oR=§Y 51,760 #2523 5,384
0 iXt K25t 51,7609 x22* 152 1,553
0 &&= 51,7602x22x302*3652 /3652 3,106
OEXEHN A2 ZAHEE, SHEXR]) 18,116
07123 51,7602 %2 * 150 15,528
0R25Y 51,7602 %2 %252 2,588
201 LB 82,097 85,066 A2,969
01 AtR22/H 77,097 80,066 2,969
OYBtA=2H| 73,247
O NEBAIXDL BESF2(MFXIIIES)
47021%(180,000Z K| *1/2) 42,300
ORAIE BELSLR 5,670%4%1,300Z X| 7,371
O HU(QAANE, 0124 H)ABL4R
18,9004« 100Z X 1,890
0 WEZAIRID} clggze &1
48,0002* 12 A 12042 576




A3 E2AVE
S A R
H M WA SEN W 2H (o ®3)
RS - A - FE - SI(SH) - MIRAY - BSS ol &k e SmE=]
o HEBAIXIDL EAL 282 &40t 2,110
—&40t 55,00094%17& 23] 1,870
- 10,0002 % 128 %23 240
odIE = N2 22H 222 10,000,000 10,000
OFSUEINLE E2= A 6,000,000 6,000
0 FSLEIIANAE Sol SEZ 3,000,000 3,000
o294+ 3,850
0 BSADIHEBAIRING BHLY
70,0002 11Z#53] 3,850
2 SS2HI 5,000 5,000 0
OSSMEIIAAE ST 2 5,000,000& 5,000
405 RHAHE SH 78,000 70,000 8,000
01 AL SEFSH 78,000 70,000 8,000
OFSAHEIIAIAE HHIWAH 28,000,000 *1A! 28,000
OFSH IIAEESHAAE 2] 50,000,000 14! 50,000
THat 22 2,646,389 3,470,352 1\823,963
SR 22 2,646,389 3,470,352 1\823,963
AL 22l 2,097,839 2,942,702 A\844,863
101 Q14| 52,238 49,058 3,180
04 JIZHHIZ2 XS 52,238 49,058 3,180
OFAt2tEl o8y 35,509
07123 51,760 24«2 *2462 25,466
0R3§Y 51,760 x2Z*52% 5,384
o AXIRSZEI 51,7609 x2E* 152 1,553
=R 51,7602 x2H*30U*3652 /365 3,106
OFAtZtel UHl oY 1,553
07123 51,7609+ 15%30L 1,553
O AEHEAL Q12 13,976
07123 51,7602 %2 *105 10,870
ore=e 51,760Rx2%*255 2,588
==k 51,7602 x2Hx52 518
OFAtZE| 018 TI=Y| 150,000 & x4 23] 1,200
201 ety 924,349 851, 144 73,205
01 AFR2t2/H 44,610 44,610 0
OLBts-2H| 35,554
OSIEA ARE 25,466
—sHEA 63,8002 x62 A 124 2 4,504




A3 E2AVE
S A R
B I THAH 22 2 2l
3| - A - B - S9(3H) - HIRAIY - BES o Siaton =
—$iCEtS 92,4002 +6EEA 12002 6,653
—JEH L MEH 22,0002 400463 5,280
—IUHZEA 60,0004 *50EFA 3,000
—TZEZHNZE 90,0004 +202t A 1,800
—HHESE(8Hl% S) 168,850 % 12F A« 12712l 2,027
—StEA IS 4SS 44,0004t A 1200 2,112
0ZEX HAR 500,000 %12 500
o HAHIE FAMFH 3,000,000 3,000
oMY IEE 19,8002 50 * 12IH 2 1,188
OEAIZR| ARE 200,000 %1274 € 2,400
od M i 1,500,000 %23 3,000
O3 7,056
oMHarRR| 2 F=X OfAlY] 7,056,000 7,056
O25 ZHAF O A 1,000,00024%23 2,000
02 222 879,739 806,534 73,205
O2ZL2LHA 599,581
oMIIQ3 213,756
—J22(gerE 1Y) 8, 1732 *456Kw* 120 2 44,723
—JIZ2 (40 8) 6,9082* 160Kw+ 12042 13,264
—=FM(LeE O 11521x1,164, 314Kw 133,897
—EHTI|(A0EE ) 852%155,610Kw 13,227
—F)EAA J|I22(LBE 1Y)
, 17324%60Kkw+ 120 2 5,885
—P)EAHL HIS(LEDY)  1152%24,000kw 2,760
0 BN S (AL S, X&) 6,500,000 +23] 13,000
022 AL el 500,000 % 127HE 6,000
oAMBIEE AlBE 26,400
—ZEA dol=EAER 2,000,000&* 12012 24,000
—1)22HA AolEEAIRE 200,000 12J4 & 2,400
OMI|HAERY 42 16,680
—ZEAL BIIHEEA 28
1,210,000 % 12J42 14,520
—F)EAA FMIOHEHAEY p42
180,000 % 12712 2,160
0 AOIME S| 100,0004%23] 200
o ST Z=20tA BE 45,0002 45
o NIYTHAZH 3l 323,500
— o= 140,000,000 140,000




A3 E2AVE
S A R
N D THAE 22 (EER-E
S| - A - BH - 9I(S1H) - HRAIY - BES ol &kt e B2t
— SRR A (L2 A)) 43,000,000& 43,000
—Sx2SHha 138,000,000 138,000
== 2,500,000 2,500
O 2H| 69,520
o MAIE L 56, 100
—522 S8 1,1002%510 £ *100 56,100
0ABRABA(J|H, S, FRAR) 3,564
—2H| 1,1002%36 £ *902 3,564
02X [HI]4 B 1,056
—A2H| 1, 1002+ 1CH*BAI 2+ 120 1,056
0222 KX 2,200,000 2,200
otz 1,10024*10CH* 10A1 2H+602 6,600
OAIEZHIKXIHI 210,638
o MXIEHI(RFID) SEZCIAIAL H/W A B2
7,000,000& 7,000
o AYAIZRXI22/H| 10,200
—AYAIE RX22 BFs==2  350,0002+122 4,200
—AYAIE ST 5,000,000 5,000
—REMOAIAE HA 1,000,000& 1,000
o WiLtEtAH| SR 4] 29,750
—22 & S| BAEE=Z 250,000 200 A 500
—HE)| 2=I|HH| L M2 6,000,000 6,000
-2y M2 1,500,0002%2. 55 3,750
—HIY QU SXL4H| 10,00024*150CH 1,500
—YHLgrE FED| Al 1,500, 000 +2CH 3,000
—=9X B0l B3 4,00024%2,500 £ 10,000
—3X)| $HKXL| 5,000,000& 5,000
o HAL |22/ 163,688
—ZEAL S| FAES HY L2
210,000 %12 2,520
—P)EAA Y| FNES B +48
150,000 %1272 1,800
—ZEAN AS 250,00024 122 3,000
—ZHAL AFRAl HIE A Y 2A X
5,000,000 %13} 5,000
—TZEA HEA HIOEE 28, 0002+3404 A 122 11,424
—Z &AL FX2ell 6,0002%8, 124m 48,744
—P)E2AA FAF S22/ 6,00094*2,000m 12,000




AR ERAAE
2 N R
o THA 22 (e &)
ARE| - 2A - FE - SRA(SIH) - KIRAY - B 0l ae e HIDE2
—2 A CCTV |XZelt] 5,000,000 5,000
—TZHA B3I 48,000,0002 48,000
—2EAL J|HA, HD A sl
500,0002* 12JH € 6,000
—) 2L 1A, A KRR
100,000 *127H€ 1,200
—2EAL EHYZYEAIE KRX2el]
3,000,000 3,000
—7)2AL EHLZUNAIL X 2el]
1,000,0002 1,000
—ZotRAalZ2t KAl 3,000,000 3,000
—28A AUiEtE 0o 4,000,000& 4,000
—ZEAF A2 ZF+ & &2 8,000,000 8,000
202 044l 14,440 14,440 0
01 210 14,440 14,440 0
OR&E & Xfefate| HLFEX 14,440
o BKMArRE 12,440,0002 12,440
oXH2F 2,000,0002 2,000
206 TH2H 15,560 15,560 0
01 24| 15,560 15,560 0
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O2=0Is HAEM 7 500,000 500
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OJHA2E ME+1 3,460
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OSHEA 209 LED 2tE ! 3|oja M2 4
XIAH 120,600
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0JtEH SX3IZ SHEA 2|22 BAF L FHA
UIDErZ Wil SAb 76,000,000 76,000
0 NEHAIRA HU SHA =4 30,000,000 30,000
OS,d EIIAIE FHIBAHT1IHL) 50,000,000 50,000
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143,956,0002! 143,956
O(F)EAHA 2|29 BAHIIHA) 69,370,000 69,370
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OLEDEES WHIAE 200,000,00024%0.72% 1,440
OSBEA W2+ At 451,000,0002%0.72% 3,248
O AH6II12 FIIAIE FUIBAHT1IH)
50,000,0002*1.08% 540
OFAM WERSEsEIL 2 HREZ AHHI(1290L)
145,000,000%0.72% 1,044
O(F)EAA 21222 ZAH1IHA)
70,000,00021%0. 9% 630
O &AL HE 2ISLSAS 50,000,000 %1.08% 540
THaE 22 548,550 527,650 20,900
201 e 79,350 79,350 0
01 At 2l 31,850 31,850 0
OLete=gH| 26,250
oSFML & 52 400,000 *40Z X| 16,000
0 3RMA 2dFEHI =2 350,000 %253 8,750
0=3 E17E 1,00094%1,500% 1,500
OSFMe o3z 4= 70,0002%102+83] 5,600
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O332=2 & MA 5,000
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1,000, 00024 *5CH 5,000
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O=& ARAl ZD|(&AH Xt E) 50,000,000 50,000
OSHAIRA ZD|(A X S) 25,000,000& 25,000
OSZ eI 5,200
o MXEN(RFID) 2ICI DI 2,600,000 *2CH 5,200
OZSxnH 7Y 389,000
0 BB AUH(IIZIZALA, THR D, OHME 2}, Ot
=0) 129,000,0002! 129,000
0Z2HA WM 1CH(KHRDH) 260,000,0002! 260,000
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201 Let2 | 33,159 36,159 A3,000
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o=l 6,000
0 BIOIAREXI(SS) OHAH 6,000,000 6,000
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SXEH 83,267,139 80,358,945 2,908,194
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= 9,700,400
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= 2,034,354
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03 A2 7,000 7,000 0
OOtBEAt 2 HA 7,000,000 7,000
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0 OF& 10042 < &AL 7,000&*150H 1,050
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OMoli+= SIHTALE SRS 22,0002+123] 264
302 012 Ea =2 22,000 22,000 0
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AR ERAAS
2 A SKEMY
H 3 FOINST (el H2)
RS - A - FE - SI(SH) - MIRAY - BSS ol &k e SmE=]
25 22 1,966, 100 1,159,900 806,200
< 476,070
z 1,490,030
Sschy 1 670,000 326,900 343,100
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9220 NXHHBAEE(CIS20 HAAH|) 18,000 18,000 0




SR
SAE=0
FOIMET|2 (e &)
RS - A - ZH - SI(SIH) - HRAY - o e HIDEZ
2220 MXHHILER(AZSN = 14,400
= 3,600
201 ¢et24dd| 6,500 8,220 A1,720
= 5,200
= 1,300
01 AtR2teld 5,500 7,220 A1,720
Oget=SH(ELENMZ 4,500
= 3,600
= 900
Ou=H| 580
= 464
= 116
O2zg0all?ds =4 420
= 336
= 84
02 S==24H| 1,000 1,000 0
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DIAHEHT| 2 (EH2: &)
/3| - A - B - S9I(SH) - HIRAY - BES 0 &t e HIDEZ
O2A220 HS20HI(2FPFY, A S)
164,435,000 164,435
= 131,548
[ 32,887
o230 NZH| OlE2 L BrEl 494,282 523,123 A28,841
308 XIXIEHHISOIA 478,782 507,623 A28,841
07 REXISHHZIRE S 478,782 507,623 28,841
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2 1,389,948
[ 178,708
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[ 178,708
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= 252,420
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OZ0HQ! 2|2 H|(380) 44,726,000 44,726
= 35,781
= 8,945

HASHONC! &EH Y ZAHH K& 2,49% 2,254 242
= 1,248
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OZIOHQ! SHAEROIAN QIAHI(8Y) 152,000,000 152,000
= 76,000
[ 22,800
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01 AlRIEEE =63 4,000 0 4,000
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= 2,300
= 2,300
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= 3,806
i 3,806
O0l=g4 M3ea XA 400,0002 400
& 200
= 200
ZoHe! Ols HoM3B 95,500 103,500 28,000
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= 11,000
@ EIRSES] 400002475 3,000
= 3,000
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= 7,700
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& 2,700
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i 1,400
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= 2,200
z 496,410
ULHBSTAHAL NI 17,200 17,200 0
& 2,200
= 15,000
307 21201 17,200 17,200 0
3 2,200
z 15,000
11 ABISXAER 17,200 17,200 0
OLLBEFAHAX 17,200,0002 17,200
= 2,200
2 15,000
olgze #sxd 31,410 31,410 0
201 Yeted| 13,590 13,590 0
01 ARl 13,590 13,590 0
Ogerr24| 3,200
oNSETIRSTINY 2% 1,000,00084 1,000
oUHBHMAI BES AR 5,0002%2000 1,000
OUHTY SAES A2E 700,00024 700
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202 O1H| 10,920 10,920 0
01 =LHoiLI 10,920 10,920 0
ONE=Xl €5 F& 0l 10,920,000 10,920
301 LeHBAR 6,900 6,900 0
09 ALAHIZ2aS 6,900 6,900 0
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OF= L T o2 (A Ws L #A 20 2
A= 50,00094+30%*33] 4,500
OWAHMSIE SAES 243 5,000 +50 2 +63] 1,500
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uzed &I 446,760,0002! 446,760
03 Al&2CHY| 3,240 0 3,240
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OIS ALSIEO X 16,000 16,000 0
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307 2I2t0| A 16,000 16,000 0
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2 7.817
307 QI2Ho|® 37,224 0 37,224
p] 26,057
[ 3,350
2 7.817
11 AMZISXAEE X 37,224 0 37,224
O ZE012UX SHAMLIA 37.,224,0002 37.224
J| 26,057
= 3,350
2 7.817
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2 6.3%
1 AR SAAEER 30,459 155,113 N124,654
OthzstE A0 30,459,000 30,459
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& 5,200
= 5,200
307 2120 10,400 10,400 0
& 5,200
= 5,200
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& 5,200
o 5,200
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= 18,422
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= 18,422
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OYAIHERAE0ts dlelXlz K& 1,218,000 1,218
= 853
& 183
= 182
OtsZLE XA A NXISHHBAEE 33,061 33,061 0
= 23,143
& 4,959
= 4,959
301 LetEas 33,061 33,061 0
= 23,143
& 4,959
= 4,959
01 AlRIEEE 63 33,061 33,061 0
OOt XIJAR XA (140H) 33,061,000 33,061
= 23,143
== 4,959
i 4,959
AA=5ta XA 3,000 1,000 2,000
& 1,200
= 1,800
301 LetEas 3,000 1,000 2,000
& 1,200
i 1,800
01 AlBI2EH 5= 3,000 1,000 2,000
Ogy=ol=a KIA(3Y) 3,000,000 3,000
= 1,200
i 1,800
gt 15K Ol& Y20t s K& 7,200 7,200 0
= 2,880
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& 2,880
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= 249,220
307 2I2t0|H 830,736 0 830,736
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& 166, 148
= 249,220
11 ARISXAIHE R 830,736 0 830,736
OX<SotsHy 29d| X2 830,736,000 830,736
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= 249,220
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& 7,650
= 17,850
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o 17,850
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307 2120 4,000 4,000 0
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OXG0tsHE Jtie2s3 A IR 4,000
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[ 618,384
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= 4,480
nJIE2d= 5,600 5,600 0
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